         1

1. Перевести из 2 системы в 10

    111010011

    100011101

   1110111001

2. Перевести из 10 системы в 2

     512   238  1036

3. Записать в 8 системе

        (111001101)    (101010101)

                   2              2

           2

1. Перевести из 2 системы в 10

    101011011

    100011001

   1110101001

2. Перевести из 10 системы в 2

     528   192  1024

3. Записать в 8 системе

        (101001101)    (100010111)

                   2              2

            3

1. Перевести из 2 системы в 10

    110010011

    101010101

   1010101001

2. Перевести из 10 системы в 2

     644   128  1063

3. Записать в 8 системе

        (110101101)    (111010101)

                   2              2

              4

1. Перевести из 2 системы в 10

    101010011

    101011101

   1110001001

2. Перевести из 10 системы в 2

     572   256  1098

3. Записать в 8 системе

        (1001101101)    (101010101)

                    2              2

              5

1. Перевести из 2 системы в 10

    111001011

    100010101

   1101100101

2. Перевести из 10 системы в 2

     389   272  1142

3. Записать в 8 системе

        (101101101)    (110101011)

                    2              2

              6

1. Перевести из 2 системы в 10

    101010101

    111011010

   1001001001

2. Перевести из 10 системы в 2

     489   138   512

3. Записать в 8 системе

        (110011001)    (101001001)

                   2              2

             7

1. Перевести из 2 системы в 10

    100110011

    101011101

   1010111001

2. Перевести из 10 системы в 2

     583   128  1319

3. Записать в 8 системе

        (110001111)    (111110101)

                   2              2

              8

1. Перевести из 2 системы в 10

    101010101

    111011010

   1001001001

2. Перевести из 10 системы в 2

     644   128  1063

3. Записать в 8 системе

        (110001111)    (111110101)

                   2              2

                  9

1. Перевести из 2 системы в 10

    111010100

    101101101

   1110101001

2. Перевести из 10 системы в 2

     510   235  1045

3. Записать в 8 системе

        (111001100)    (1000010101)

                   2              2

           10

1. Перевести из 2 системы в 10

    110010011

    100011100

   1110101001

2. Перевести из 10 системы в 2

     112   538  1070

3. Записать в 8 системе

        (111001001)    (101000101)

                   2              2

               11

1. Перевести из 2 системы в 10

    111010100

    100110101

   1110101000

2. Перевести из 10 системы в 2

     256   479  1101

3. Записать в 8 системе

        (101011100)    (100011101)

                   2              2

            12

1. Перевести из 2 системы в 10

    101010010

    100010101

   1001111001

2. Перевести из 10 системы в 2

     512   238  1036

3. Записать в 8 системе

        (101001100)    (100011101)

                   2              2

13

1. Перевести из 2 системы в 10

    111001011

    100010101

   1101100101

2. Перевести из 10 системы в 2

     489   138   512

3. Записать в 8 системе

        (110001111)    (111110101)

                   2              2

